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1. [lepeyeHb KOMIIETEHIIHI ¢ YKa3aHHEM ITanoB UX ()OPMUPOBAHUS U ONKCAHHE TIOKA3aTe/Ieil 1 KPUTepHeB OlleHMBAHUS KOMIIeTEeHIUI Ha
Pa3JIMYHBIX 3Tanax ux GopMHPOBaHMS, ONIMCAHNE LKA OLleHUBAHUS

dopmupyemasi Pesyabrarsl Iloka3aTesim 1 KpUTEepUHU OLIEHUBAHUSA Pe3yJIbTATOB 00y4eHHUS MO AUCHUILUIUHE (MOIYJIIO) Bun
KoMmeTeHuus (¢ o0y4eHus no OLICHOYHOI0
yKa3aHHeM KO/1a)  JIMCUMIJIMHE cpeacTBa
(MmoayJ10)
1 2 4
Hey/. YIOBJI. XOpOoLIOo OTJINYHO
l'oroBHOCTHIO 1 sTan: OOyuaromuiica He = OOyuaroluiics BlajgeeT OO6yuaromuiicst OO6yuaromuiicst YcTHbil
OCYIIECTBIISATh 3HaHus BIIaJICET HEKOTOPBIMU HAaBbIKAMU BJIQ/ICET HABBIKAMH  XOPOIIIO BIIAJCET orpoc
IPOBEPKH HaBBIKAMU MPOBEPKH OE3011aCHOTO IPOBEPKH HaBBIKAMHU (ommpoc o
0e30MmacHOro MIPOBEPKHU COCTOSIHUSI OOBEKTOB 0e30MmacHoOro POBEPKHU TeMawm,
COCTOSIHUSI OOBEKTOB 0e30macHoro pa3IMYHOTO Ha3HAYEHUS, COCTOSIHUSI OOBEKTOB = 0€30I1acCHOr0 orpoc
Pa3IM4HOTO COCTOSIHHS MPUMEHSIS] 3HAHUS Pa3IMYHOTO COCTOSIHUS JIEKCUYECKHU
Ha3HAYCHUS, 00BEKTOB MHOCTPAHHOTO S3bIKa Ha Ha3HAYCHMUS, 00BEKTOB X €JUHHIL TI0
y4acTBOBATh B Pa3IMYHOTO YIOBJIETBOPUTEIHEHOM HOpPUMEHSS XOPOLINE | Pa3IuYHOIo paszienam).
IKCIEPTU3AX X Ha3HAYEHUS, HE YpPOBHE. 3HaHUS Ha3HAYCHUS,
0€30I1acHOCTH, BJajesl UHOCTPAHHOTO PUMEHSIS
periIaMeHTHPOBAHHEI OCHOBHBIMH SI3BIKA. OTJIMYHBIC 3HAHHUS
X JIEUCTBYIOIIUM MpaBUJIaMHU UHOCTPAHHOTO
3aKOHOATEIbCTBOM (hoHETHYECKOTO U SI3BIKA.
Poccuiickoii rpaMMaTH4E€CKOro
®enepanun (ITK-18) CTpos
WHOCTPAHHOTO
SI3BIKA.
2 orar: OO6yuatommiicst He  OOydJaronIuiics HE yMeeT OOGyuarommiics OOGyuarommiics Kontponbaa
Ymenus yMeeT OCYILECTBIISITh IPOBEPKY yMEET OCYLIECTBIATh XOPOIIO yMEeT s pabora
OCYILIECTBIISTh 0€3011acCHOr0 COCTOSIHUS MIPOBEPKY OCYIIECTBIISTH
MIPOBEPKY 00BEKTOB PA3TUYHOTO 6e30macHoro IIPOBEPKY
6e301macHoro Ha3Ha4YeHUsI, HO UMEET COCTOSIHUSI OOBEKTOB ~ 0€30MacHOro
COCTOSIHUSI HEKOTOPOE MPEJCTABICHUE  Pa3IHMYHOIrO COCTOSIHUS
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3 3Tam:
Bnanenus
(HaBBIKH /
OITBIT
JIeATEIIbHOCTH

)

00BEKTOB
Pa3IM4HOTO
Ha3HAYEHMS,
y4acTBOBAaTh B
IKCIEPTU3aX UX
0€30IaCHOCTH, HE
oOnagacT
YMEHUSIMH
MIPUMEHSATh
3HAHUS
HHOCTPAHHOTO
SI3bIKa
OOyuaromuiicst He
3HAET CYIIHOCTh
0e30I1acHOro
COCTOSIHHS
00BEKTOB
pa3InIHOTO
Ha3HAYEHMS, HE
3HAKOM C
TpeOOBaHUSIMU T10
o0ecneYeHUIO
0e30macHOCTH
JUTSL Pa3ITUIHBIX
KaTeropui
00BEKTOB M HE
3HAET
dboHeTHUECKUE U
rpaMMaTHYeCKHe
npaBuia
HHOCTPAaHHOTO
SI3BIKA.

00 7KCcIepTU3e Uux
0e301MacHOCTH, TPUMEHSIS
Ha Y/I0OBJIETBOPUTEIHLHOM
YPOBHE 3HAHUS
HHOCTPAHHOI'O A3bIKA.

OOyuaromuiics 3HaeT
CYIITHOCTh O€30MacHOTO
COCTOSTHUSI HEKOTOPBIX
00BEKTOB PA3IUYHOTO
Ha3HAYCHUS, HO HE 3HAKOM
¢ TpeOOBaHUSAMH 1O
obecreueHno
0€e30MacHOCTH IS
Pa3IMYHBIX KaTErOpHUn
00BEKTOB
perIaMeHTHPOBAHHBIX
JIEHCTBYIOILUM
3aKOHOATEIILCTBOM PD,
3HaeT Ha
YJIOBJICTBOPUTEIEHOM
ypoBHE (POHETUYECKUE U
rpaMMaTHYEeCKHUE IMpaBuia
WHOCTPAHHOTO SI3BIKA.

Ha3zHa4YCHUs, UMCCT
HEKOTOpOe
IpesicTaBlIeHue 00
IKCIEPTU3E UX
0€30MaCHOCTH , yMes
HIPUMCHSATH 3HAHUS
MHOCTPAHHOTO SI3bIKa
Ha XOPOILIEM ypOBHE.

OO6yuarommiics
3HAET CYLIHOCTh
06e301acHOTO
COCTOSIHUSI OOBEKTOB
pa3IuYHOTO
Ha3HAYCHHUs], 3HAKOM
¢ TpeOOBaHUAMH T10
o0ecrnevYeHnIo
0€301acHOCTH JIJIst
pa3IHYHbIX
KaTeropui
00BEKTOB,
periIaMeHTHPOBAHHBI
X JIEUCTBYIOILUM
3aKOHO/IaTEIIbCTBOM
P®, 3naer Ha
XOpOIIIeM YPOBHE
(doHeTHuecKue U
rpaMMaTHYeCKHe
MpaBuIia

00BEKTOB
Pa3IMIHOTO
Ha3HAYCHMS, UMEET
Mpe/ICTaBJICHHE 00
IKCIIEPTH3E UX
0€e30I1aCHOCTH,
TIPUMECHSISI
OTJIMYHBIE 3HAHUS
WHOCTPAHHOTO
SI3BIKA.

OO6yuarommiics
XOpOIIIO 3HAET
CYITHOCTH
0e30I1acHOro
COCTOSIHHS
HEKOTOPBIX
TIPUPOTHBIX
00BEKTOB
Pa3ITUIHOTO
Ha3HAYCHHS,
pazOupaercs B
TpeOOBaHUSX 11O
obecreueHNTo
0€301acHOCTH JIJIst
Pa3TMIHBIX
KaTeropui
00BEKTOB,
JEATEIbHOCTh
KOTOPBIX
pernmaMeHTHPOBAHO

Tect




MHOCTPAHHOTO JENCTBYIOIUM
A3BIKA. 3aKOHOJATEIbCTBOM
P®, otnuuHo 3HaeT
(dhoneTnyeckue u
rpaMMaTH4eCKHe
npaBuia
HMHOCTPAHHOTO
S3BIKA.
Bnagenuem 1 sTan: He Bnaneer JomnyckaeT ook npu Homnyckaet CBoOoHO BrazieeT = YCTHBIN
NUCbMEHHOW U 3HaHus HaBbIKAMU OOIIEHUH U JIeSITEIbHOCTH B HE3HAYUTEIbHbIE HaBBIKAMHU orpoc
YCTHOHM PEYbIO Ha OOIICHUS | WHOS3BIYHOU Cpelie, pu OIMUOKH TpH oO1eHus 1 (ompoc o
PYCCKOM $I3bIKE, NeSITeIbHOCTH B 0(pOpMIICHUH pPEUYEBBIX o011IeHUH U NeSITEIbHOCTH B TeMaM,
CIIOCOOHOCTBIO MHOSI3bIYHOM BBICKA3bIBaHUH B JESITENIbHOCTH B MHOSI3BIYHON Cpelie, = OIpocC
UCIIO0JIb30BaTh cpexe, COOTBETCTBUHU C MHOS3BIYHON Cpefie, = 3JIeMEHTapHbIMU JEKCUYECKU
npogeccuoHaIBHO- AJIEMEHTAapHBIMU  TpaMMaTUYECKUMU U npu 0pOpMIIEHUH HaBbIKaMU X €IMHUI] 110
OpPUEHTUPOBAHHYIO HaBbIKAMU JIEKCUYECKUMH HOpMaMHU peueBBIX oopmienus paszienam).
PUTOPUKY, odopmiieHus YCTHOW M MUCbMEHHOU BBICKA3bIBaHNH B peueBBIX
BJIaJICHUEM peUeBbIX peun. COOTBETCTBUH C BBICKa3bIBaHUH B

METOJIaMH CO3JaHUSs
MTOHSATHBIX TEKCTOB,
CIIOCOOHOCTBIO
OCYIIECTBIISATH
COIMATIEHOE
B3aMMO/JICHCTBUEC HA
OJIHOM U3
WHOCTPaHHBIX
s3p1k0B (OK-13)

BBICKa3bIBaHUI B
COOTBETCTBHH C
rpaMMaTH4YE€CKUM
Uy
JIEKCUYECKUMU
HOpPMaMH YCTHOHN
U IACbMEHHOU
peun. He ymeer
MOHSTh
(monB3ysich
CIIOBapeM) TEKCT
1o
CHEIHaIbHOCTH
W/WIN TEKCT

IrpaMMaTU4YECKUMU U
JIEKCUYECKUMHU
HOpPMaMH yCTHOU U
IIUCBMEHHOU PEYH.

COOTBETCTBUH C
rpaMMaTH4eCKUMHU
U JIEKCUYECKUMHU
HOpMaMH YCTHOW 1
MMACBMEHHOW peyH,
OCHOBHBIMU U
Haunboiee
pacnpoCTpaHEHHBIM
U JIEKCUYECKUMH U
¢bpaszeonornyeckum
U SIBJICHUSIMU,
XapaKTepHBIMU

JUIA
COLIMOKYJIBTYPHOU




2 JTal:
VYMmenus

CTPaHOBEIYECKOT
0, HAY4HO-
MOMYJISIPHOTO
conepxkanus (6e3
cyoBaps).

He ymeer
W3BJICKATH
nHpopMaIuo u3
WHOSI3BIYHOTO
TEKCTa, BBIIEISATh
OCHOBHYIO
nHpopmaruto,
JIOTa/IBIBATHCS O
3HAYCHUU
HE3HAKOMBIX
SI3BIKOBBIX
€JIMHHII 10
KOHTEKCTY,
HCIOJIb30BAaTh B
MPOLIeCCe YTECHUS
CIIOBapH,
OCYIIIECTBISTh
JTUAIOTHYECKOE U
MOHOJIOTHYECKOE
oO1Ienue,
MIPaBUIBLHO
opopMIIATH
pedeBbie
BBICKa3bIBAHUS,
OCYIIIECTBISTh
MMMCbMEHHOE
o01eHue.

He Bcerna ymeer
HCII0JIb30BaTh Pa3INYHbIC
BUJIBI U (DOPMBI YCTHOU U
MMACEMEHHOMN
KOMMyHUKauuu Ha 14 B
y4eOHOH 1
npodeCCHOHAIBHON
JIeATEIILHOCTH, H3BJICKATh
uHpopmaruio u3
HHOSI3BIYHOTO TEKCTA,
BBIJIETISITH OCHOBHYIO
uH(pOopMalLIHIO,
JIOraJipIBaThCs O 3HAUCHUH
HE3HAKOMBIX SI3BIKOBBIX
€MHUI] IO KOHTEKCTY,
WCIIOJIH30BaTh B MPOIIECCE
YTEHUS CIOBapH,
OCYIIECTBIISITh
JHAIOTHYECKOE U
MOHOJIOTHYECKOE OOIIEHHE,
MPABUILHO O(hOPMIISTH
peYeBBIC
BBICKA3bIBAHUS,0CYILIECTBIIA
Th IINCbMEHHOE OOIICHHE,
KOPPEKTHO 3aIOJHATh
odunranbHbIe OJaHKHA U
MKCaTh KPAaTKUE MUChMA.

Honyckaer
HE3HAYUTEIIbHBIC
OLIMOKHU

IIPY UCTIOJIb30BaHUH
pa3JInYHBIX BUIOB U
¢dbopM yCTHOI 1
IIUCbMEHHOU
KOMMYHHKAIIMH Ha
W5l B yueOHoit u
pohecCUOHATLHOM
NeSITeIbHOCTH, TIPU
W3BIICUCHUH
UHpOpMaLIUU U3
WHOSI3BIYHOTO TEKCTA
, IPY BBIJICIIEHUN
OCHOBHOM
UHpOpMaLIUH, TIPH
WCTIOJh30BaHUH B
npolecce YTeHus
ClI0Bapew,
OCYILIECTBIICHUH
JIAJIOTHYECKOTO U
MOHOJIOTHYECKOTO
o0IIeHMS,
odopmiieHnn
peUeBBIX
BbICKa3bIBaHUI,

TCMAaTUKU.

YwMmeer
UCIOJIb30BATh
pa3JInYHbBIC BUBI U
(hOpMEBI YCTHOU U
IIUCbMEHHOU
KOMMYHHKAITIH Ha
Ul B yueOHoit u
po(heCcCUOHATTLHOM
NeSITeIbHOCTH,
U3BIICKATH
uHdopmaruio u3
WHOSI3BITHOTO
TEKCTa, BBIIENATD
OCHOBHYIO
UH(pOpMaLHIO,
JIOTa/TBIBATHCS O
3HAYECHUU
HE3HAKOMBIX
SI3BIKOBBIX €TUHUI]
10 KOHTEKCTY,
HCIIOJIb30BaTh B
MpoIecce YTEHHSI
CIIOBapH,
OCYIIECTBIISTH
JTUAIOTUYECKOE U
MOHOJIOTHYECKOE
oO111eHue,

KonTponbna
s pabora.
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3 3Tam:
Bnanenus
(HaBBIKH /
OITBIT
JIeATEIIbHOCTH

)

He 3naer 6a3oBbie
(dhoHeTnyecKkue
CTaHJapThI;
OCHOBHBIC
npaBuiia
opdorpadpuu u
MyHKTYaIlnu;
JMHTBUCTHYECKHEC
CBEJICHHUS
rpaMMaTHYeCKOTrO
1 JIEKCUIECKOTO
XapakTepa;
COITHOKYJIBTYPHBI
€ 0COOEHHOCTH
CTpaH
U3y4aeMoro
sI3bIKA; IPABUIIA
BepOAIIbHOTO U
HeBepOATHLHOTO
MOBEICHHS B

3HaeT Ha OCPEICTBEHHOM
ypoBHE 0a30BbIE
(doHEeTUYECKUE CTaHIaPThI;
OCHOBHBIE TIPaBHJIa
opdorpaduu u
NYHKTYaIlNy;
JIMHTBUCTHYECKHUE CBEACHUS
rpaMMaTH4eCKOro 1
JIEKCUYIECKOTO XapaKTepa;
COLIMOKYJIbTYpHBIE
0COOEHHOCTH CTpaH
U3y4aeMoro s3blKa; paBuiia
BepOaJIbHOTO U
HEeBepOAIbHOT'O TIOBECHHUS
B THITMYHBIX CUTYAIHIX
OOIIeHUS; TPUHIIMIT
OpraHu3aIiyi MaTepuaa B
OCHOBHBIX JIBYSI3bIYHBIX

CJIOBapsX U CTPYKTYpYy
CJIOBapHOM CTaThbH,

OCYIIECTBICHUH
MIHACEMEHHOTO
001IIeHHS,
3aI0JIHEHUH
oumanbHBIX
OJIaHKOB U
HAIMCAHUU KPATKUX
IIHACEM.

3HaeT XOpoIIo
6a3oBbIe
(doneTnueckue
CTaH/IapThI
WHOCTPaHHOTO
SI3bIKa; OCHOBHBIC
paBuiIa
opdorpacpuu u
MYHKTYaIHH;
JMHTBUCTHYECKUE
CBEIICHHUS
rpaMMaTHYECKOTO,
JIEKCHYECKOTO
Xapakrepa;
COIMOKYJIBTYpHBIE
0COOEHHOCTH CTpaH
M3y4aeMoro SI3bIKa;
npaBuiia
BepOATHLHOTO U
HeBepOaTbHOTO

MIPABUIILHO
0hOpMIIATH
peueBbie
BBICKA3bIBaHMSI,
OCYIIECTBIATh
HCHbMEHHOE
ob1enue,
KOPPEKTHO
3aIOTHSATh
ounmansHee
OJIaHKH U TTUCATh
KpaTKHe MUChMa.
3HaeT Bce
OCHOBHBIC
(doneTuko-
opdorpaduyeckue
CBENICHUS,
OCHOBHBIE MTpaBUIIa
MTYHKTYaIiH;
JUHTBUCTUYECKUE
CBENICHUS
rpaMMaTH4eCKOTO U
JEKCHYECKOTO
XapakTepa;
COILIMOKYJTBTYpHBIE
0COOEHHOCTH CTpaH
M3y4aeMoro SI3bIKa;
MpaBuia
BepOATHLHOTO U
HeBepOaTbHOTO
MTOBEJICHHS B
TUITHYHBIX

Tect
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TUIIUYHBIX
CUTYyaILHsIX
001IIeHuS,
TPHHIAI
OpraHu3aIu
MaTepuasa B
OCHOBHBIX
JBYSI3bIYHBIX
CIIOBApsX U
CTPYKTYpY
CIIOBapHOM
CTaThbH,
AITOPUTMBI
CaMOCTOSITETLHOT
0 OBJIAJICHUS
MaTepPHAIIOM.

AJITOPUTMBI
CaMOCTOSATEIIBHOTO

OBJIaZICHUA MATCPHUATIOM.

IIOBCICHHA B
THUIIMYHBIX
CUTyalusIx

OOIIIEHNST; PUHIIUIT

OpraHu3aIu
MmaTepuaia B
OCHOBHBIX
JBYSI3BIYHBIX
CJIOBapsX U

CTPYKTYpYy

CJ'IOB&pHOfI CTaThbu,

AJITOPUTMBI
CaMOCTOSTEJIBHOTO
OBJIQJICHUS
MaTEpUAIIOM.

CUTYaIUAX
OOIIIEeHNST; PUHIIUTT
OpTraHU3aIIN
MaTepuaia B
OCHOBHBIX
JIBYSI3bIYHBIX
CJIOBapsiX U
CTPYKTYPY
CJIOBapHOU CTaThH,
QITOPUTMBI
CaMOCTOSITEJILHOTO
OBJIaICHUS
MaTEPUAJIOM.



2. KoHTpoJIbHBbIE 32/1aHUSI UJIM HHBbIE MATEePHAJIbl, He00X0AMMBbIE /1JIs1 OLeHKN 3HAHM,
YMeHUii, HABBIKOB U (MJIM) ONbITA JeITEJIbHOCTH, XapPAKTEePHU3YIOINX ITANbI
(opMupoBaHus KoMIeTEeHIIHI B IIpoIecce 0CBOCHU 00pa30BaTeIbHOI MPOrpaMMbl

Tect nns onenku ypoBHs copmupoBanHocTd kKomriereHnu OK-13, T1K-18 Ha stane «3HaHus»

Tect Nel
Choose the right variant

1. My friend (to work) at the factory.

a) works

b) work

¢) worked

d) will work

2. This group (to go) to the theatre next month.
a) go

b) goes

c) will go

d) went

3. We (to get) books from the library last week.
a) get

b) got

c) will get

d) gets

4. | (to come) home later than usual yesterday.
a) come

b) came

C) comes

d) will come

5. This student (to answer) well at the last lesson.
a) Answer

b) Will answer

c) Answered

d) answers

6. They (to translate) the text tomorrow.

a) translate

b) translated

c¢) will translate

d) translates

7. He (to read) the book about Robinson Crusoe in his childhood
a) Read

b) Reads

c) Will read

d) readed

8. We (to want) to live in peace.

a) Wanted

b) Will want

c) Went

d) wants

9. Schoolchildren (to have) the longest holidays in summer.

9



a) Have

b) Had

c) Has

d) Will have

10. I (to speak) with my teacher tomorrow after classes.
a) Speaks

b) Spoke

c) Spoken

d) Will speak

11.  The farmer (to like) to work in his garden every day.
a) Liked

b) Likes

c) Will like

d) like

12.  The child always (to wash) his hands before dinner.
a) Washed

b) Washes

c) Washs

d) Will wash

13.  The teacher (to ask) the new grammar rule at the next lesson.
a) Asks

b) Asked

c) Will ask

d) ask

14.  On Sunday his little sister (to visit) grandmother.
a) Visited

b) Visit

c) Will visit

d) visits

15.  She (spend) a week in the Alps.

a) Spent

b) Spend

c¢) Will spend

d) spends

16.  He (write) letters every day.

a) Write

b) Wrote

c) Will write

d) writes

17. | (work) in a bank.

a) Will work

b) Works

c) Worked

d) work

18. | (play) tennis in the morning.

a) Play

b) Played

c) Will play

d) plays

19. Next week he (visit) his grandparents.
a) Visited

b) Visit

10



c) Will visit

d) visits

20. | know that his father (have) many books in different foreign languages.
a) Has

b) Have

c) Will have

d) Have got

21.  Usually he (be) at home on Sunday.
a) Am

b) Was

c) Are

d) Were

e) Was

f) Will be

22. | (pay) for the lunch yesterday.

a) Payed

b) Pay

c) Paid

d) Will pay

23.  She (have) a new car.

a) Have

b) Will have

c) Has got

d) had

24.  Inchildhood Eric and Line (not to like) to get up early.
a) Didn’t like

b) Doesn’t like

c¢) Don’t like

d) Won’t like

25. We (be) at home next week

1. Were
2. Was

3. Will be
4. Be

Tect Ne2

Choose the right variant

1. My parents (be) to the USA many times.

a) have been

b) had been

c) will have been

d) is being

2. Julia (finish) all the housework by three o’clock and we’ll go for a walk.
a) will finish

b) will have finished
11



¢) have finished

d) had finished

3. Aunt Polly punished Tom Sawyer because he (be) naughty.

a) has been

b) had been

c¢) will have been

d) finishes

4. —Why are you looking so unhappy? — I (lose) my purse.

a) have lost

b) had lost

c) will have lost

d) lost

5. We are going to buy a car. By the end of next month our family (save)
money for it.

a) will save

b) will have saved

¢) have saved

d) had saved

6. Tell Tommy about these wonderful islands. He (never / hear) about them.
a) has never heard

b) had never heard

c) will never have heard

d) heard

7. The workers say that they (build up) a district by the beginning of 2000.
a) will have built up

b) will build up

c) have built up

d) had built up

8. A mother asked the children if they (buy) some biscuits for tea.
a) has bought

b) had bought

c) bought
12



d) will have bought

9. I (leave) some photos to be developed. Are they ready?
a) have left

b) had left

c¢) will have left

d) leave

10. She (have lunch) by the time we arrive.

a) will have had

b) will have

c) have had

d) had had

11. Mr. Jackson said that he (already/buy) everything for lunch.
a) will already have bought

b) will buy

c) have bought

d) had bought

12. ... the secretary (yet/come)?

a) will... have come yet

b) yet ...will come

c) has... come yet

d) had... come yet

13. I wasn’t hungry because I (just/have) breakfast.
a) have just had

b) had just had

c) will just have had

d) had

14. Take your umbrella. It (rain) cats and dogs.

a) is raining

b) was raining

¢) will be raining

15. This time tomorrow they (sit) in the train on their way to Chicago.

a) are sitting
13



b) were sitting

c) will be sitting

16. I saw a light in your window as | (pass) by.

a) is passing

b) will be passing

C) was passing.

17. 1 don’t know Spanish, but I (Iearn) it now.

a) was learning

b) will be learning

c) am learning

18. Don’t phone Jim from 5 to 6 — he (have) English.
a) will be having

b) is having

c) was having

19. While my son (wait) for my call, somebody knocked at the door.
a) Is waiting

b) was

c¢) will be waiting

20. Granny is in the kitchen. She (make) plum — cakes.
a) is making

b) was making

c) will be making

21. At the moment we (fly) over the desert.

a) will be flying

b) are flying

c) were flying

22. - I’'m not wearing sure I’ll recognize Eve. I haven’t seen her for ages.
- She (wear) a dark blue pullover and jeans.

a) will be wearing

b) is wearing

C) was wearing

23. He couldn’t speak because he (die) of laugh.
14



a) was dying

b) is dying

c) will be dying

24. Let’s go for a walk .It (not/rain) now.

a) will not be raining

b) is raining

C) was raining

25. At six o’clock I (wait) for Jennie at the station.
a) will be waiting

b) am waiting

C) was waiting

Tect Ne3

Choose the right variant

1. I met my (good) friend yesterday.

a) goodest

b) better

C) best

2. Dorothy is (young) in her family.

a) the youngest

b) the younger

C) young

3. Henry is not (strong) his elder brother Bob.

a) so strong as

b) strong as

C) stronger

4. - Itisn't very warm today, is it? - No, it was (warm) yesterday.
a) more warm

b) warmer

c) the warmest

5. Your friend looked upset yesterday. I'm glad he looks (happy) today:

a) more happy
15



b) happier

c) happy as

6. Where is (near) post - office, please?
a) the nearest

b) the next

C) nearer

7. That's (good) film I've ever seen.

a) a good

b) the goodest

c) the best

8. Public transport in London is (expensive) in Europe.
a) the expensivest

b) the most expensive

C) more expensive

9. Do you think Americans are (nice) English people?
a) nicer than

b) the nicest

c) nice than

10. The 22nd of December is (short) day in the year.
a) the short

b) the shorter

c) the shortest

11. This is (old) theatre in London.

a) an older

b) the oldest

c) the eldest

12. Pluto is (cold) of all the planets.

a) the coldest

b) a coldest

c) a colder

13. My (old) sister doesn't live with us.

a) older
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b) elder

14. This house is (old) of all the houses in the street.
a) asold as

b) older

c) the oldest

15. Go to the library if you need (far) information.
a) farther

b) further

c) farer

16. Life is (easy) it used to be.

a) So easy as

b) more easy than

c) easier than

17. I'm getting (fat) and (fat).

a) the fattest and the fattest

b) fatter and fatter

c) fat and fat

18. The problem was (serious) we expected.
a) seriouser than

b) more serious than

19. Moscow is (large) city in Russia,

a) the largest

b) largest

c). larger

20. Let’s go by train. It’s much (cheap).
a). cheap

b). cheaper

C). the cheapest

21. Is Alan (tall) than Jim?

a) taller

b) tall

c) as tall as
17



22.1 earn (little) money than he does.
a) Hitler

b) more little

c) less

23. He has ... time than me.

a) bigger

b) much

C) more

24. Your cottage isn't (far) I thought
a) farther

b) so far as

c) as farther as

25. The boy was running ... fast... he could.
a)as ... as

b) so ... as

c)more ... than

Tect Ned

Choose the right variant

1. My brother ... speak several foreign languages.
a) may

b) can

) must

2. Can you use his dictionaries? — I'm afraid I.... He needs them.
a) can't

b) mustn't

¢) shouldn't

3. ... you pass the fruit? — Here you are.

a) Could

b) Must

c) Will

4. May | take this book home? — No, you ....
18



a) can't

b) may not

¢) you will not

5. The manager ... see me only late in the evening.

a) could

b) might

c) was able to

6. All children ... enter the park. Admission is free.

a) can

b) may

c) are allowed to

7. Some bus windows ... be opened except in case of emergency.
a) can't

b) mustn't

C) may not

8. I... leave home at 7.45 in the morning not to be late for classes.
a) ought

b) have to

C) 've got to

9. He ... change his job as his salary has been increased.
a) mustn't

b) can't

c) doesn't have to

10. If 'am in a hurry, 1... to get a taxi.

a) shall be able

b) can

) must

11. It... outside; some people have put up their umbrellas.
a) must be raining

b) must rain

¢) must have rain

12. Why ... they ... to sell the house? — Because they were going at Bristol.
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a) were ... able

b) did ... have

c) will... have

13. You ... hurry. There is plenty of time left.
a) don't need to

b) needn't

€) mustn't

Tect NeS

Choose the right variant

1. Every year London ... by many people from all over the world.
a) is visited

b) is being visited

C) was being visited

2. The biggest museum ... by the Mayor next month, on May 24th.
a) opens

b) is opened

c) will be opened

3. Numerous banks, offices and firms ... in the City.

a) have been situated

b) situate

c) are situated

4. The City of London ... by fire in 1666 and by bombs in 1940.
a) destroyed

b) was destroyed

¢) had been destroyed

5. St. Paul's Cathedral... by Christopher Wren (1632-1723), and it... last stone was
laid in 1710.

a) was designed; believes

b) designed; believed

c) was designed; is believed

6. Nearly all English kings and queens ... in Westminster Abbey.
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a) are being crowned

b) have been crowned

¢) had been crowned

7. The Tower of London ... as a fortress, a royal palace and a prison became a
museum.

a) was used

b) has been used

¢) had been used

8. Who ... "There Men in a Boat" ......?

a) has ... been written with

b) was ... written by

c) are ... written by

9. My computer ... repaired since last month, so | can't help you find information
you ask for.

a) has been repaired

b) is being repaired

c) was repaired

10. The child ... by a man who ran away.

a) hit

b) was hit

¢) had hit

11. The patient... by the doctor and ... to hospital.

a) examined; was taken

b) was examined; was taken

c) was examined; took

12. Linda ... a lot of flowers on her birthday last month.
a) gave

b) was given

c) has been given

13. How often ... the latest news . . .? — Every half an hour.
a) is ... broadcast

b) are ... broadcast
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C) is ... being broadcast

14. The chief said that the contract ... the next day.

a) will be signed

b) would sign

¢) would be signed

15. Tables are made . . . wood and are covered . . . plastic.
a) in; by

b) of; with

c) from; by

16. New methods of technology ... in building houses now.
a) are using

b) are being used

¢) have been used

17. A lot of things we wear must ....

a) dry-clean

b) be dry-cleaned

¢) being dry-cleaned

18. Peter was sure that the dog could . . ., so he jumped into the river.
a) save

b) be saved

c) to be saved

19. 11 ... that the question . . .still ... in the State Duma.
a) told; had . . . been debated

b) was said; is ... debated

c) was told; was . . . being debated

20. The students . . . work hard by the new teacher.

a) made

b) were made

C) were made to

21. It ... that the scientist has made a new discovery.

a) is known

b) had been known
22



) was known

22. Traffic rules ... followed.

a) can be

b). must be

C) may be

23. The terrorists ... by the police.

a) want

b) are wanted

c) are wanting

24. The girl didn’t suspect that she ... at as she spoke.
a) was being laughed

b) laughing

c) laughed

25. The chairman said that such an important fact should ... on.
a) comment

b) be commented

¢) being commented

Tect Ne6

Choose the right variant

1. My friend Jack lives ... 55, Main Street ... Apartment 20.
a) in; in

b) at; in

c) on; at

2. He likes reading books by American authors of... century.
a) nineteen

b) the 19th century

c) the nineteen

3. There are more than three ... year-files of magazines and newspapers in
the reading-room.

a) hundred
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b) hundreds
¢) hundred of

4. ... people watched the Olympic Games on television.

a) millions
b) Millions of
¢) Million

5. Are all the students here? — Two-thirds of the group ... absent.

a) are

b) is

6. Helen felt tired; three miles ... too far to walk.
a) was

b) had

C) were

7. Twenty dollars ... too much for such a trifle.
a) is

b) are

8. The friends were just in time to catch ... train.
a) 4 o'clock

b) the four o'clock'’s

c) the four o'clock

9. Henry ..., the Tudor king of England, became known for
his marriages.

a) Eight; a

b) the Eighth; the

c) Eighth; the

10. The Beatles were very popular in ... and the mid ....
a) the 1960s; 70s

b) 1960;1970

c) 1960;70s

11. Japan’s surrender marked the end of ... .

a) the World War Two

b) World War 11
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¢) the Second World War

12. What does she want? — A dozen ... eggs and a pound ... raisins.
a) - ; of

b) of; of

) -

13. There are two ... in my telephone number.

a)6

b) 6°s

c) 6th

Tect Ne7

Choose the right variant

1. Teddy's words made me (feel) uncomfortable.

a) to feel

b) feeling

c) feel

2. Mrs. Pottson allowed her guests (smoke) in the living-room.
a) to smoke

b) smoking

C) smoke

3. Has the secretary come yet? | want to have my papers (type).
a) to type

b) type

c) typed

4 . | watched my cat (play) with her kittens. | couldn't tear myself away from that
funny sight. '

a) played

b) playing

C) to play

5. Granny didn't want my Mom (marry) my Dad.

a) marry

b) to marry
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) married

6. Our English teacher told us (not / feel) shy and speak English as much as
possible.

a) not to feel

b) not

c) felt

7. | have to get my photograph (take) for a new passport.
a) took

b) take

c) taken

8. There wasn't much traffic in the street. | saw a little girl (cross) the road.
a) crossed

b) cross

c) to cross

9. I have never heard Helen (sing).

a) sang

b) sings

C) singing

10. Mary would like her brother (avoid) Tom's company.
a) to avoid

b) avoid

c) avoided

11. We expected the Harrisons (arrive) later than usual.
a) to arrive

b) arrive

c) arrived

12. What makes you (do) such rash actions?

a) do

b) to do

¢) doing
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KonTtpomnbHble 3a1aHus U OLIEHKH ypoBHA copmupoBanHocTy kommnereHnnu OK-13, [TK-18
Ha oTane «YMeHUs».

KonTpoabHas padora Nel

1. Read and translate the text using a dictionary. Answer the following questions.

Conductance and Electrolysis
Generally speaking, the classification of a substance as a non-electrolytic or as an electrolytic is
based on the conductance of its aqueous solution. Aqueous solutions of non-electrolytes do not
conduct an electric current to any greater extent than pure water docs, whereas aqueous solutions
of electrolytes conduct an electric current and undergo electrolysis. Weak electrolytes give
solutions which arc relatively poor conductors because of a limited degree of ionization. On the
other hand, aqueous solutions of strong electrolytes readily conduct an electric current.

If a strong electrolytic is formed as a result of a chemical reaction involving two weak
electrolytes, the conductance of the resulting solution increases. If the ions of a strong
electrolytic are removed from solution as an insoluble precipitate, or from a weak electrolytic
with the ions of another reactant, the conductance of a mixture of the reactants is less than that of
the strong electrolytic. After the reaction is complete, the conductance will increase upon further
addition of the second reactant, provided the latter is a strong electrolytic.

Electrolysis always accompanies the passage of a direct current through an aqueous solution.
Cations arc reduced to a lower oxidation state, some of them to the free state, at the cathode;
anions arc oxidized to ions with a higher oxidation state, or to the free state, at the anode.

1. What is the basis of the classification of a substance as non-electrolytic or as an
electrolytic?

2. Why do weak electrolytes give solutions which are relatively poor conductors?

3. How can the conductance of the resulting solution be increased?

4. In what case is the conductance of a mixture of the reactants less than that of the strong
electrolytic?

5. What accompanies the process of electrolysis?

2. Use the proper article.

1. T'have ... friend who has travelled all over ... world. 2. ... Caucasus Mountains lie between ...
Black Sea and ... Caspian Sea. 3. St. Petersburg is ... large city, it stands on ... Neva. 4.
Thousands of people go to ... Mediterranean Sea in summer. 5. What is the capital of... Canada?
6. ... Pamirs, which are called ... «Roof of ... Worldy», are in ... Asia. 7. On our trip to ...
United States and ... Mexico we crossed ... Atlantic Ocean. 8. ... Spain is in ... south of...
Europe. 9. ... President of... USA lives in ... White House. 10. ... Declaration of Independence
was drawn up in 1776. 11. ... expression on his face frightened her.
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KonTtpoabnas pabora Ne2
Read and translate the text using a dictionary. Answer the following questions.
Gold

Perhaps no other metal has played such an important part in the destiny of man as gold has. For
centuries, it has stood as a barometer of wealth and nobility. To secure it, men have fought,
suffered and died. Countries have been founded through the search for it; kingdoms have been
lost because of it.

Why?

Well, we can supply three reasons. Value. Beauty. Permanence. Obviously, there is a limited
supply of the metal available which increases its value. The fact that it is usually found free in
nature makes it easy to mind — if you can find it. That it is attractive, we cannot deny. There are
very few people who do not appreciate the warm, shining yellow beauty of gold. (We would
greatly appreciate having some.) And, finally, its appearance is quite permanent. Aluminum
becomes dull, iron rusts, copper corrodes, silver tarnishes, but gold remains the same. (Although,
it must be dusted occasionally.)

Despite our glowing words above, metallic gold has very few practical uses. It is really a metal
to be looked at, not to be used, about its only use at present is in the manufacture of jewellery.
And even then it must be alloyed with other metals, usually copper or silver, as it is too soft to be
used in the pure state.

Gold is inactive and is not attacked by oxygen or ordinary acids. It docs, however, react readily
with chlorine to form gold (auric) chloride, AuCI3. Thus, we can dissolve it in aqua regia or
chlorine water, both of which supply chlorine.

It is owing to its remarkable properties that gold as well as platinum are increasingly used in
some fields where particular accuracy and reliability are needed.

What role does gold play in the destiny of man?

What changes can other metals undergo except for gold?
What practical uses does gold have?

What chemical features does god have?

In what fields is gold used as well as platinum?

bbb

2. Fill in the gaps. Use a little, a few.

1. I take ... sugar in my coffee. 2. Can you spare ... minutes? 3. We exported ... tea last year. 4.
There were ... clouds in the sky. 5. ... people went swimming although it was very cold. 6. ...
kinds of meat were available in the store. 7. We saw ... shops along the street. 8. She still has ...
shopping to do. 9. There were ... pieces of chalk left in the box. 10. Would you like ... more ice
cream? 11. May I offer ... more carrots?

KonrtpoabHnas pabora Ne3

1. Open the brackets using the correct form of the Passive Voice.

1. A very significant contribution to the world science (to make) by Russian people.

2. The Periodic System of elements (to speak) of as the beginning of the new era in chemistry.

3. Many thousands of experiments (to make) by the scientists before the Periodic Law (to
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discover).

4. As a result the scientist created the system of classification in which all the elements (to
arrange) in order of increasing their atomic weights in eight groups.

5. In this table some gaps (to leave) for unknown elements.

6. The discovery of scandium (to follow) by the discovery of gallium in 1879 and of germanium
in 1886.

7. Many new previously unknown elements (to discover) since that time and filled the gaps in
the periodic table.

8. One of these new—found elements (to call) mendelevium, it was the element number 101.

2. Fill in the gaps. Use until, since, for.

1. I've lived in America ... [ was five years old. 2. He said he would be away ... Monday. 3. I've
been married ... five years now. 4. Mom and Dad have gone away ... a few days. 5. Wait here
... I come back. 6. I stayed up ... three in the morning. 7. It has been raining ... he arrived. 8. |
have been studying ... half an hour. 9. I have been away ... 5 o'clock. 10. I am going on a
holiday ... three weeks. Can you feed my cat?

3. Fill in the necessary prepositions.

1. I bought a new dress ... the store. 2. I found my keys ... my pocket. 3. My friends are waiting
.. me ... the mall. 4. I saw the horse jumped ... the fence. 5. Cathy lives ... her parents ... small
house. 6. We took a taxi ... the airport.

KonTtpouabnas padora Ned
1. Open the brackets using Past Perfect, Past Indefinite, Past Continuous.

1. When we came into the room, Mary (to stand) before the looking- glass and (to comb) her
hair. 2. We (to finish) dinner when father came home from work. 3. | went for a walk after | (to
do) my homework. 4. When my friend came | (to do) the sum and (to write) it down in my
notebook. 5 Jack left before she (to show) him the telegram. 6. What did you do yesterday? - A
little of everything. | (to read), (to write) letters and (to walk) and (to do shopping). - And after
you (to do) all these things? - | (to watch) TV. 7. You had to finish the work yesterday. How
much work you (to do) by 12 o'clock? 8. He said he (to find) the watch he (to lose) the day
before. 9. He said he (to know) the man when he lived in New York. 10. By what time (to do) all
the exercises?

2. Complete the sentence so that the action of the subordinate clause is simultaneous with
the action of the main sentence or precedes it.

A. 1. My friend is sure that he ... (to play chess) better than I do. 2. My friend was sure that he
... (to play chess) better than I did. 3. She says that she ... (to be tired) 4. She said that she ... (to
be tired). 5. Peter says that he ... (to teach) Jane to swim last summer. 6. Tom says that he ... (to
lose) his record book. 7. She said that her little sister ... (to be ill) ill) for a fortnight.
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B. 1. He said that his mother ... (to be ill). 2. He said that his mother ... (to fall ill). 3. She said
that she ... (to pack) already her things. 4. Ann told her mother that she ... (to break) her watch.
5. 1told Rose that I ... (to be ready) to go. C. 1. He said that he ... (to wait) for me after classes
today. 2. Rita told her mother that she ... (to get up) early next morning. 3. She said that she ...
(to go) by bus. 4. I told Alex that I ... (to help) him.

KonTtpouabnas pabora NeS

1. Read and translate the text using a dictionary.
Do we need nuclear power?

With rising fuel costs, concerns about global warming and the growing demand from the
developing world for energy, the burning question is whether the world needs nuclear power.
Peter Hodgson, a nuclear physicist, says yes. Dennis Anderson, an economist, says that we
should first explore the possibilities of renewables and other forms of energy.

Our civilization and our standard of living depend on an adequate supply of energy. Without
energy, we would not be able to heat our homes or cook our food. Long-distance travel and
communication would become impossible, and our factories could no longer produce the goods
that we need. A century ago the world's energy came almost wholly from coal and «traditional»
sources, such as wood, crop residues and animal dung.

These are still major sources of energy, particularly in developing countries, where 2 billion
people are without access to, or cannot afford, modern energy forms. Wood and dung are
estimated to provide an amount of energy equivalent to 1 billion tons of oil each year; it is
sobering to realize that this is 16 times more energy than is provided worldwide by nuclear
power, and is about the same as the amount of energy provided by coal in Europe and the US
combined.

Energy markets in the industrial countries are maturing, and may even peak and decline with
continued improvements in energy efficiency. The last two centuries saw energy efficiency
increase enormously — in motive power, electricity generation, lighting, in the use and
conservation of heat, and in an array of other applications.

The situation is different in developing countries, where billions of people have hardly enough
energy to survive, let alone enough to increase their living standards. If they are to achieve
prosperity, their energy needs - which are doubling every 15 years - will have to be met.
Moreover, their population will soon be 7-10 times greater than that of the industrial world, and
(with the sad exception of several African countries) economic growth is much higher than it is
for industrial nations.

2. Complete the sentences by expressing the future action in subordinate clauses of time
and condition.

1. I'll go home when our lessons ... (to be over). 2. I'll ask him about it when I ... (to see him). 3.
I'll go to the library if I ... (to have time). 4. We'll take a walk when we ... (to finish) our work.
5. I'll go fishing tomorrow if the weather ... (to be) fine. 6. When he (to come), we (to go) to the
cinema. 7. If she (to be) at home she (to help) me. 8. She (to return) the book to you when she (to
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read) it. 9. If he (not to come) we (to start) without him. 10. If she (not to be) well, we (not to go

swimming).

[Tepedyens BOonpocoB Jyisi OLIeHKH ypoBHs chopmupoBanHocTr komneTeHmu OK-13, TIK-18 na
arane «Brnagenus».

HOI[FOTOBI/ITB YCTHBIC COO6H_[CHI/I$I 10 TEMaM:

1. BBenenue B pu3uKy

S3p1k dp u popm. Urenue hopmyi.

2.
3. Boinarommecst pu3MKU U UX TOCTHKCHUS
4.

ATOMBI B IBIKEHUN
Yersipe cuitbl

Pazpymaromasicst BcenieHHas

CrpykTypa MaTepuu.
ATOMBI 1 MOJICKYJIBI.
10. ®usuka ceromus.

12. PeBomtonust Konepuuka.

5.
6.
7. I1opsiAOK CIIOB B aHIVIMMCKOM ITPEIOKECHUH.
8.
9.

13. OcHOBHBIE OTKPBITUS U TOCTHXKEHUS B (DU3MKE U UHKEHEPUU

2. BI)IyTH/ITI) JICKCUYCCKUEC €AMHUIEBI 110 pasacjiaM: BBCACHUC B (1)I/ISI/IKy, BBCJCHHUC B

06meHaquy10 JICKCHUKY, aTOMBI B IBUKCHUU.

3. MeToan4eckne MaTepHaJibl, ONpeaesiioue Npoue1ypbl OLeHUBAHUS 3HAHUI, YMEHHI,
HABBIKOB M (MJIM) ONBITA /1eSITEeJIbHOCTH, XaPaKTEePHU3YIOIIMX 3Tanbl (JOPMUPOBAHUSA

KOMIIeTeH M

PeliTUHI-IIJIaH JUCHUILIMHBI

S3AYET
Buabl yueOHO# 1eATeJIbHOCTH Bbana 3a Yucao Munumaiabn | MakcuMaJIbLHBI
CTYJACHTOB 3agaHue 3aJaHMi 32 bl 0aJsL1 i 0asn
MOYJb 0 100 (+10)
Moayas 1 0 50
Texymmii KOHTPOJIb 0 25

1. AynutopHas pabota
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1.1. YcTHBIH onpoc 1o Temam 1 8 0 13
1.2. IlepeBoa TekcTa Mo 2 6 0 12
CTEeUATBHOCTU
Py0e:xHbIli KOHTPOJIb
Tect 1 0 25
Moayas 2 0 50
Texkyuuii KOHTPOJIL 0 25
1. Aynuropnas pabota
1.1. YcTHBIH onpoc 1mo Temam 1 8 0 13
1.2. TlepeBox TekcTa 1mo 2 6 0 12
CIEeLUaIbHOCTU
Py0eskHbIi KOHTPOJIb 0
Tecr 1 0 13
KontponbHas pabota 1 0 12
Hroro 0 100(+10)
PelTHHI-IUIAH QM CHUTIMHBI
35K3AMEH
Buab1 yueOHoii 1eATEIbHOCTH bana 3a Yucao MunumanabH | MakcuMaJIbHBI
CTY/ICHTOB 3ajaHue | 3aJaHuUM 3a blIil 0211 i 6aJ
MOJYJIb 0 100(+10)
Monayas 1 0 35
Texkyumii KOHTPOJIb 0 20
1. Ayautopnas pabota
1.1. YerHsiit onpoc no Temam 1 8 0 13
1.2. IlepeBon Tekcta no 1 7 0 7
CMeLHaNIbHOCTU
Py0e:xxHbIN KOHTPOJIb 0
KonrtponsHas pabora 1 0 15
Monayas 2 0 35
Texkymuii KOHTPOJIL 0 20
1. AynuropHas paboTa
1.1. YcTHBII onpoc 1o TeMaM 1 8 0 13
1.2. IlepeBop TekcTa 1Mo 1 7 0 7
CMEeLHaNTbHOCTH
Py0e:xxHbIN KOHTPOJIb 0
Tecr 0 10
KonrtponbHas pabora 1 0 5
HTorosslii KOHTPOJIb 0
DK3aMeH 0 30
Hroro | 0 100(+10)

Kpurtepun ouenku TectoB Nel, Ne2, Ne3, Ne5 (B 6as1ax)
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«OTnuyHO» - 25 6aNIIOB BBICTABIIACTCS CTYIEHTY, eciu BbimonHui 100%
«Xopomo»- 20-24 Gaa BBICTABISIETCS CTYACHTY, €Cli BBIIOIHII OT 80%-99%;

«Y noBierBoputensHo» - 10-19 6amioB BBICTAaBISETCS CTYICHTY, €CIIM BBITOJHWI OT
40%-79%);

«HeynosnerBopurensHo» - 0-9 6annoB BHICTaBISAETCS CTYACHTY, €CIIU BHIMOIHWI OT 0%-

39%.

Kpurepun ouenku TectoB Ned, Ne6, Ne7 (B 6asiiax)

«O1nryHOY - 13 GaJIOB BBICTABJISAETCS CTYACHTY, eciu BoimoaHmT 100%

«Xopomo»- 10-12 GayioB BbICTABISIETCS CTYACHTY, eciii BRIIOIHII OT 80%-99%;

«Y IOBJIETBOPUTENHHOY - 5-9 0aIOB BBHICTABISAETCS CTYACHTY, ecii BHIMOIHUI OT 40%-
79%;

«HeynosnerBoputenbHo» - 0-4 0asioB BBICTABIISCTCS CTYACHTY, €CIIU BHIMOIHWI OT 0%-
39%.

Kpurepun ouenku KonrposbHoii padoTsl (B 6a/171aX)

«OT1anaHo» - 12 GasioB BBICTABISAETCS CTYACHTY, eciu BeimonHua 100%

«Xopomio»- 9-11 GannoB BeICTABISAETCS CTYACHTY, €Ciu BIMOIHUI OT 80%-99%;

«Y IOBJIETBOPUTENHHOY - 4-8 0ayIOB BBICTABISETCS CTYACHTY, ecii BRIMOIHUI oT 40%-
79%;

«HeynosnerBoputenbHo» - 0-3 0asioB BBICTABIISCTCS CTYACHTY, €CJIU BBIMOIHUI OT 0%-
39%.

Kputepun onenkn YcTHoro onpoca (B 6aj1iax)

«OtnnaHo» - 13 0amiaoB BBICTABISETCA CTYAEHTY, €CIM CTYAEHT Jall TOJHBIE,
pa3BepHyTBIE OTBETHI Ha Bce Bompochl. CTyaeHT Oe3 3aTpyIHEHWH OTBETWJI Ha BCE
JOTIONTHUTEIbHBIE BOMpOChl. [IpakThyeckas dYacTh pPaOOTHl BBINOJHEHA TIOJHOCTHIO 0e€3
HETOYHOCTEH U OIIHOOK.

«Xopomo» - 10-12 6amioB BBICTaBISETCS CTYIACHTY, €CIIA CTYACHT JIaJI MOJHBIE OTBETHI
Ha Bce Bonpochl. CTYAEHT OTBETUII Ha JOMOJHUTENbHbBIE BONPOCHI. [IpakTHueckas 4acTh paboTh
BBINTOJIHEHA C HE3HAYUTEIbHBIMU OIIMOKAMHU.

«Y IOBIIETBOPUTEIBHO» - 5-9 0ayioB BBICTABISETCS CTYAEHTY, €CIM CTYAEHT Aal
HEMOJIHbIe OTBEThl Ha Bce BONPOCHL. CTYyAEHT HE OTBETMJ HA JIOMOJHHUTEIbHBIE BOIPOCHI.
HpaKTI/I‘-IGCKaSI qacCTb pa6OTBI BBITIOJIHEHA C OIIMOKAMU M HETOYHOCTSIMHU.

((HCYILOBHCTBOPI/ITCJIBHO» - 0-4 GamIoB BHICTABIISIECTCS CTYACHTY, €CJIM OH OTKa3aJICAd OT
OTB€TAa HWJIM HE CMOI' OTBCTHTH Ha BOIIPOCEHIL. CTy)IeHT HE CMOI' OTBCTUTH HH Ha OJHH
I[OHOJ'IHI/ITC.HBHHﬁ BOIIPOC. HpaKTI/I‘-ICCKa}I 4acCTb pa6OTBI HC BBIIIOJIHCHA.

Pe3ynbrartel 00ydeHHs] MO JUCHUIUIMHE (MOAYNIO) y OOYyYaroIIMXCS OLEHUBAIOTCS IO
UTOTaM TEKYIIEro KOHTPOJsSI KOJUYECTBEHHOH OLIEHKOW, BBIPQ)KEHHOW B PEHTUHIOBBIX Oajuiax.
O1ieHKe MOICKUT KAXKI0E KOHTPOIEHOE MEPOTIPHUSITHE.

IIpu ouenuBaHuM CHOPMHUPOBAHHOCTU KOMIIETEHLIUH NMPUMEHSETCS YeThIPEXYpOBHEBAs
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LIKaJIa «HEYAOBJIETBOPUTEIBHOY, «YIOBIETBOPUTEIBHOY, «XOPOIIO», «OTIUYHO.

MaxkcumanbHbI 0aul MO KaXJOMy BHIYy OLIEHOYHOIO CpEACTBA OIpeNeNseTcs B
peiTuHr-miane u BeipaxkaeT noaHoe (100%) ocBoeHne KOMIETEHIIMH.

VYpoBeHb cHOPMUPOBAHHOCTH KOMIETEHIUMH «XOPOIIO» YCTaHABIMBAETCA B CIIy4ae,
Korzia 00beM BBITIOJTHEHHBIX 3aJJaHM COOTBETCTBYIOIIETO OIIEHOYHOTO CpeicTBa cocTaBiser 80-
100%; «ynoBiieTBOpUTENBHO» — BBINIOIHEHO 40-80%); «HEYIOBIETBOPUTEIBHO» — BBINOJIHEHO (-
40%

PeliTunroBeiii  Oayml 32 BBINOJHEHHE YaCTH WM IMOJHOTO oO0beMa 3alaHuit
COOTBETCTBYIOIIETO OIICHOYHOTO CPEJCTBA BBICTABISETCS 1O (hopMyJIe:

Petitunrossiii 0ayut = k x MakcuManbHBIH Oa,

rae k = 0,2 mpu ypoBHE OCBOEHHS «HEYAOBJIETBOpUTENIBbHO», k = 0,4 Tpu ypoBHE OCBOCHUS
«ynoBierBopuTenbHO», k = 0,8 nipu ypoBHe ocBoeHus «xopouo» 1 k = 1 npu ypoBHE OCBOEHUS
«OTJIMYHOY.

OrneHka Ha 3Tane MPOMEKYTOUHOM aTTecTalK BbICTaBIsAeTCs corylacHO IlonoxeHuro o
MOJyJIbHO-PEHTHHIOBOM cuCTeMe 00yUYEeHHS U OLIEHKH YCIIeBaeMOCTH cTyneHTOB baml'y:
Ha sk3ameHe BBICTABIIAETCS OLICHKA:
* OTVIMYHO - NIpH HakorieHuH oT 80 10 110 pelTHHroBbIX O6aymioB (Bkitoyas 10 moompuTenbHbIX
6ayioB),
* XOpOUIO - IPX HaKOIIeHUH OT 60 110 79 peHTHHTOBBIX OAJIIOB,
* YIOBJIETBOPUTEIIBHO - IPU HAKOIUIEHUH OT 45 110 59 pelTHHIOBBIX OalIoB,
* HEY/I0BJIETBOPUTEIILHO - IIPU HAKOILJIEHUH MeHee 45 pedTHHTOBbIX OAJIOB.
Ha 3auere BbICTaBiIsIeTCS OLIEHKA!
* 3a4TEHO - Ipu HakomieHHH oT 60 1o 110 pelTuHTrOBBIX OamToB (BKIIOUYas 10 MOOMIPHUTETBHBIX
6ayioB),
* HE 3aYTEHO - Npu HaKomieHuu oT 0 10 59 peTHHroBbIX OaIOB.

IIpu nosyyeHUH Ha 3K3aMEHE OLIEHOK «OTIMYHO», «XOPOILOY, «yIOBIECTBOPUTEILHOY, HA
3a4€Te OLCHKH «3aYTCHO» CUUTACTCS, YTO PE3YJIbTaThl OOYyUCHHs MO TUCLUILIHHE (MOJIYJIO)
JOCTUTHYTHI U KOMIIETEHIIMU Ha 3Tare U3y4yeHUs AUCLUIUINHBI (MOAYJIs) CPOPMUPOBAHBI.
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